i
I
iy
Tl
P=ai
i

1. ¥4
4 AN 6 R EE A Y| [E e et 2
BT AT AP [EE B ATE N

2. EHEAR

1) FHEI4

2) JEATHIM

BYPU I EEFHIT A

290 H {5 H &% 74 37120
E S THE12H26H

3) PN

4) EBNE

=R oS KN o723 S



(L | B0 6 FEESY) ENEE BT it 5 ER RETES
H A JE R
TEHA - LfE - R =AY VA # 4 %A HMoB N R
JEH R =X 8,229, 542
TERE R = 4, 665, 400
BEX TEE LG (B) = 4,665,400 | B THEELEHGT (B)
(1.8 )1 (km) =
#ER1/1, 000
ERPHELEHRR (B)
(1.3 )1 (km) =
#ER.1/1, 000
—RAE R BT = 3, 564, 142
— R T R R E2V 3,564,142 | RIS — A > - SR
(4 NEGEREN
Iim = 808, 395
HiE GREHER) =X 808, 395
e =X 612,500 | ¥TAHE
1 =
DA = 60, 475 | PRAEHINEIC L 28
1 [=]
RMART = v 7 v— P OERL
1 Tl
N BRERCR ShPERK =X 135, 420 | Z\BHRK F SRR
1 E=E
B =X 467, 922
[ERS 3 =X 467, 922
i A = 55,922 | k¥ (i L - 15iA8)
1 =

=R oS KN o723 S



TR AR

Tl
P=si

EW4 | B 6 AEEATIN ) EEE R w3 ER BEES

H H RS

TEHA - LfE - R =AY VA % & & #H OB N AR
ATy 2 1 412,000 | RSB
1 =

EEFAM (2 OMFEMmER <) oy 1 9, 505, 859
& DAt AT = 1 4,780, 041
— i B oy 1 7,684, 100
SRR 2V 1 21, 970, 000

9= Etzz@y  AbkEt 5w R



